 FURUNGO

PACKING LIST FOR FAR2137S/12

Box 1 - MU190

© 00 N O U WDN P

L e N e e =
N o o wN RO

Part No.

MU190
001-132-960
100-351-560
100-363-462
100-363-240
000-162-608
000-172-164-10
000-166-666
000-172-165
001-134-900
000-155-828
100-360-671-10
OMC-446-70Z
000-174-494
000-174-495
MDC-446-70Z
000-174-491

Box 2 - RPUO13S

0 ~NO U WN P

Part No.
RPUO013
000-165-800
000-147-517
000-538-118
000-155-826
000-155-780
IME-352-10Z
OME-351-90Z2

Box 3 - RCU014

o 01 A W N P

Part No.
RCU014
100-306-251-10
000-147-167
000-166-468
000-881-447
000-881-447

Wt: 30 Ibs. Dim: 22" x 20" x 10"

Description
19" Color LCD Monitor

DVI-D/D Cable 5M

Flush Mounting Sponge V19
Masking Panel

Flush Mounting Sponge H19
Self-Tapping Screw M5X20
Wire Tie

Crimp-on Lug

Binding Head Screw M4X10
Flush Mount Panel

Fuse FGBO 250V 1A

LCD Cleaning Cloth
Operator's Manual
Flushmount Template 1
Flushmount Template 2

Enviromental Protection Sheet

Post Installation Setting Sheet

Quantity
1

P R R P ERPERPRONOOOR,DMANENLEPR

Wt: 29 Ibs. Dim: 19" x 21" x 12"

Description Quantity
Processor Unit S Band Configuration 1
Terminal Spanner Tool "20MM" 1
Terminal Spanner Tool "19MM" 1
Crimp Lug Fv2-4 2
Fuse FGBO 10 "For AC Unit" 4
Fuse FGBO xx "For DC Unit" 4
Installation Manual 1
Operator's Manual 1

Wt: 11 Ibs. Dim: 11" x 19" x 9"

Description Quantity
Control Unit with Cable Assembly 1
Fixing Bracket 1
Grommet "G39" 1
"3M" Brand Bumper Cushion 3
Washer Head Screw M4 x 12 2
Washer Head Screw M4 x 12 4

Page 1 of 3

For Internal Use Only

Serial No.
Checked By:
Tech
Date
MU190
Yes Remarks
CP26-01601
SP26-00501
FP26-00401
RPU013S
Yes Remarks
008-535-940
008-535-910
008-535-930
RCU014
Yes Remarks
008-535-610
CP03-25604




% FURUNO
PACKING LIST FOR FAR2137S/12

Box 4 - RSB098
Part No.
RSB098-080
100-090-720
100-090-730
300-130-020
100-091-112
000-165-800
000-108-424
000-538-118
000-538-123
000-864-263
000-167-446
000-863-112
000-807-825
000-864-260
000-864-129
000-863-109
000-162-871-10
000-566-000

© 00 N O Ul WDN P

el e e N e e =
o ~No oM~ WNER O

Box 5 - PSU007-70-23

Part No.
1 PSU007
2 000-108-424
3 000-538-118

Box 6 - 001-078-410
Part No.
1 001-078-410

Box 8 - SN36AF/ANT12

Part No.
SN36AF/ANT12
300-640-811
000-171-786
000-864-778
000-167-232
100-167-233
000-158-483

~N o ok 0N R

Wt: 234 Lbs. Dim: 25" x 22" x 46"
Description Quantity
Scanner Assy w/30KW S Band Xcvr 1
Lifting Fixture
Collar For Lifting Fixture
Seal Washer
Corrosion Proof Rubber Mat
WAGO Terminal Tool "20MM"
Crimp Lug FV2-3
Crimp Lug FV2-4
Crimp Lug FV5.5-4
Spring Washer M12
Flat Washer M12
Hex Nut M12
Hex Bolt M12 x 70
Spring Washer M6
Flat Washer M6
Hex Nut M6
Hex Bolt M6 x 25
Grounding Wire "340MM"

O 00, W NEFEFNODNNDN

=
()]

= e

Wt: 3Lbs. Dim: 8" x 8" x 9"

Description Quantity
Configurable Power Supply 1
Crimp Lug FV2-3 2
Crimp Lug FV2-4 6

Wt: 58 Lbs. Dim: 12" x 19" x 21"

Description Quantity
30M Cable Assembly 1

Wt: N/A Dim: 13" x 26" x 156"

Description Quantity
S Band 12' Antenna w/Encl. WG 1
Guide Pin 2
"O" Ring 2
Hex Bolt M10 x 25 10
Flat Washer M10 10
Spring Washer M10 10
"3 Bond" Silicone Adhesive 1

Page 2 of 3

For Internal Use Only

Serial No.
Checked By:
Tech
Date
RSB098
Yes Remarks
008-538-730
008-551-450

PSU007-70-23

Yes Remarks
008-538-740
001-078-410
Yes Remarks
SN36AF/ANT12
Yes Remarks




% FURUNO
PACKING LIST FOR FAR2137S/12

Box 1 - FAR-190-BKT
Part No.
100-305-141
100-305-181
100-305-191
000-160-074
000-570-276
000-167-232
000-167-233
000-162-884
000-162-949
000-172-165
000-163-677
100-351-550
001-143-370
000-165-694
100-366-380
C32-011-04z

© 00 N O Ul WDN P

e e i e e =
o0 WN RO

Rev 5/14

Wt: 23 1bs. Dim: 22" x 20" x 10"

Description
Hanger L

Hanger R

Hanger Stay

Hole Plug

Snap Button

Flat Washer M10

Spring Washer M10

Hex Bolt M10X30

Washer Head Bolt M6X25
Binding Head Screw M4X10
Oval Head Screw M6X20
Flush Mounting Sponge H19
Spacer

Rosette Washer M6
Conversion Bezel

MU190/MU231 Conversion Document

Page 3 of 3

Quantity

PP ABRMNMNDMORANMNMNMNBANDRPRPPRP

For Internal Use Only

Serial No.

Checked By:
Tech
Date
FAR-190-BKT
Yes Remarks




